KARCHER"’

makes a difference

Information Networking at Karcher

Synchronizing Data from SAP, CATIA and PARTsolutions

SMD-W /12.01.2010 / iForum 2010 Kéarcher.ppt 1



KARCHER’

makes a difference

Agenda

Introduction of Speaker

= Introduction of Karcher

= |dea and Qualifications

= Implementation of Part Management
* Implementation of Classification

= Future Prospects

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 2



KARCHER"
YO ur Sp eaker makes a difference

» Edgar Ossinger

= Engineering technician

=  Working at Karcher since 1988

= Responsible for assembly and maintenance of
 classifications
« Variant configurations in SAP

= |nvolved in introduction of
« SAP PDM
« SAP PLM
« SAP variant configuration
« CATIA VA4
« CATIA VS
* PARTSsolutions

= Administration
Translation of material naming into 8 languages
PARTsolutions and their interfaces

= Training coworkers in the classification environments

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 3



KARCHER"’

makes a difference

History

CHER Programm. "

AET
AR

Product range of
2.200 products

| Cmpanyas
founded by

Alfred Kéarcher :
Strategy of concentration on

cleaning
1935|1950 1974 (1980 (1984 2001 actual
Development of Strategy of concentration | Ké&rcher enters Strategic focus on brand, target
first European on the core business consumer business | groups, distribution channels and
hot-water high-pressure cleaning. with first portable innovations
high-pressure Color changed from pressure washer, the

cleaner blue to yellow. HD 555 profi. KARCHER®

= SR

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 4




KARCHER’
Core competency makes a difference

Cleaning and supply
of liquids

Cleaning of
buildings and
surfaces

Cleaning of
vehicles

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 5



KARCHER’
Degree of innovation makes a difference

Age of units
(in % of units sold in 2009)

6 to 7 years

> 7 years

0 to 5 years

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 6



KARCHER®
Business Units makes adlfieranes

!l"'W
i“r !
o/ s

Home & Garden Professional Karcher
Progours Home ‘ Garden Commercial Professional| Industrial Ul
Washers | Cleaning tech

N RGATT

e A

ol ‘/Mt b s
Nl ’

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 7



KARCHER"’

makes a difference

Logistics & production locations (18)

S
pay /
BE

Monterrey (Mexico)

~~ - ;‘ j:;
Reggio Emilia (ltaly)

Quistello (Italy) Montereale Volpiano (Italy)
Valcellina (ltaly)

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 8



KARCHER"’

makes a difference

Growth of the Karcher Group

» 40.000 distributors
» over 50.000 service
points

« Karcher Products are
sold in more than

190 countries 45 sales subsidiaries,

in total 60 subsidiaries

SMD-W/osr/ 12.01.2010 / iForum 2010 Karcher.ppt 9



|dea

KARCHER’

makes a difference

Material search with graphic support

Recognize whether there is a 3-D model for found
parts

Simple insertion and positioning of found 3-D models
iIn CATIA V5

Access to classifications without SAP also externally

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 10



KARCHER®
QU al IfIC&tIOﬂS makes a difference

= SAP as central data/information bearer

= Automatic data exchange between uses

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 11



Initial Situation

KARCHER"’

makes a difference

cenit
CDl interface

Springen  Bewertung  Zusalze Umfeld  System _Hilfe

TProduct]

BEE

_gbjekte B zussee sustem pire
B s & o ([CEQ CHE S068IRE @
[M]BE[M cAD-Desktop
=0 oot 03] | iz | [ Autiischen |[B8 aaP-gicnt|
: Anderungsnummer:

| CAD (D

[TE] [Diaviegen =] [ZBeaeien B1|| Fabrseteen 2] (@ viiginoe 21| [EMatein_=)]I[ 5 BIE 3]/ [Boox 3]
[Dokur |Beschrbg |sachbe... [status | |Andnr ( i |Bezeich
= [ 5199976/5PR/000/00 MC 50 Classic AW03489 1A inAmelt 020846 CCO @ 11.442-2002  MC 50 Classic
< [ 5211562/5FF knl. MC 50 AW02892 R freigegeben 2027244 @O S 12.851-0950  Kerbehaslter kpl, MC 50
= [ 5192697/5PRI000M2 Kehranrigb Heck knl AWO4040 FR freigegeben 2026634 @CO S 12.851-039.0  Kehrantriel Heek kpl.
[ 5192559/5PAI000/00 Ursprung_Hopper AW02892 FR freigegeben 202338 CoOD G 1
= [l 5192696/5PR/000/02 Behaelter Deckel montiert AW04040 FR freigegeben 2026634 @co B 14.058-180.0 Behaelter Deckel montiert
[y 5192647/5PAS00O0  Ursprung_Behaelter_mit_Deckel  AWD2802 FR  freigegeben 2023348 CCO (& 1
= B} 5102667iSPRIODDO2  Traeger Behaelter kpl AWO4D40 FR ireigegeben 202663 @O0 S 1 4.058-186.0  Traeger Behaelter kpl
[ 5102647/5PAIS00M Ursprung_Behaelter_mil_Deckel  AWD2802 FR freigegeben 2023348 oCB @ 1
[ 5192B50/5PAD00I Traegerblech links AWOAD4D FR freigegeben 2027244 ©AO S 15095-0450  Traegerslech links
[ 5192651 /5P AMDNI Traegerblech rechis AWO4D40 FR ireigegeben 2027244 ©0 15095-046.0  Traegerslech rechts
[ 5192652/5PAD0M Querstrehe Mitte Traeger AWO04040 FR freigegeben 2023348 coB 16095-047.0  Quersirebe Mite Traeger
[ 5192653/5PAM00/ Querstrebe Traeger AWO04040 FR freigegeben 2023348 coB 160950480  Querstrebe Traeger
[y 5192854/5PAND0M Traegerblech vome AWO4040 FR freigegeben 2027241 €oOB (S 26095-0480  Traegerulech vome
[ 5192856/5PAD0M Aufnahmehushse_Drehpunkt AW02802 FR freigegeben 2023348 €oB 46111-1920  Aufahmebuchse Drehpunkt
[ 5192856/5PAND0M Zylinderbuchse_Oben AW02802 FR freigegeben 2026831 €oOB 46.111-193.0  Zylinderbuchse oben
[ 5116225/5PAIND0I Schweis srutter DIN 929 M8 AWO2468 FR freigegeben 2014818 COB 127.311-5030  SchweissmutterM8-ST DIN 929
~ [ 51926795PF 1 Kkl AWD4040 FR freigegeben 2026834 com 14.088-187.0  Auswurfschacht Gehaeuse knl
[ 519267 I/5PAIS00I DUy UrSprung AUswurt AW02892 FR freigegeben 202338 coB 1
[ 5192674/5PAIND0I Gehaguse Blechtell Auswerfer  AWDMD40 FR freigegeben 2026634 ©o@ (& 25095-050.0  Gehaeuse Blechteil Auswerfer
[ 5192675/5PANDON Bogen Auswerter AWO4040 FR freigegeben 2026634 coB G 15.095-051.0  Bogen Auswerfer
[ 5116222/5PAID00I0 Schweissmmutter DIN 929 MB MW02468 FR freigegeben 2014918 cca B 16 7.311-502.0 Schweissmutter MB6-8T DIN 929
[ 5192663/5PADD0I Wasserprallblech AWO4D4D FR freigegeben 2026534 com S 15095-0630  Wasserprallolech
[ 5206482/5PADD0I Saugrohr Auswurfschacht AWO4D4D FR freigegeben 2026534 com S 15095-161.0  Saugrohr oben
[ 5206550/5PAD00M Blechteil Rahmen Sitierblech AWO4D4D FR freigegeben 2026534 com S 150951650 Blechtell Rahmenteil Giterrost
[ 520671 6/5PADD0M Blechteil Knotenblech AWO4D4D FR freigegeben 2026834 com S 450951640 Blechteil Knotenblech
= [ 51926725PRI0D0IDT _ Saugrohr kpl AWO4040 FR ireigegeben 202663 @O0 B 1 4.088-1868.0  Saugrohr kpl
[ 519267 0/5PAMD0M Saugrohr AWO04040 FR freigegeben 2026631 @O0 (& 160950640  Saugrohr
[ 5192671/5PAM00M Rohrabschluss AWO4040 FR freigegeben 2026631 €OB (S 16095-0650  Rohrabschiuss
= [ 5182646/5PRI000I00  Deckelalech kpl AW02802 FR freigegeben 2023348 @O0 (G 140681880 Deckelblech kpl

DL KD}

Select an obisct or a command

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 12



Implementation
Part Management

KARCHER"’

makes a difference

cenit
CDl interface

AR

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 13



Implementation
New Application of 3-D Model

KARCHER"’

makes a difference

PARTdataManager 8.1.06 Build 58841

\cadenasidata\23d-libs\norms

o\zubehoeriges

detuelle_schlauch\

Iol

Datei ERP  Ansichten Extras CATIA 7
PErnBEME 92 BRI 500
NekEERIEEEE R S
e DIN 853519 R 374 _Elﬂ
Stickliste | s SAP_MAT MAKTXD MSTAE DIS DIS_STATUS IDHR LS m HDM KDM 02 D3 D4 L1 L2 -
_I SAP Mt Nr | st -Kurztext | bt Status Dokumenteni__ | 0I5 Status Identrummer | Lishte Schiau .. | Geuinde [mm] | Gewindenenn .. | Gewindekemnd...| Durchmesser .. Durchmesser .| Durshmesser .| Lénge fmm] | Linge [mm] | U
NE [4.. [ERFsFDM [ ]
T Gewindeile DIN G| 1) | 16R14 [ Rk 13457 1445 £.000 5000 5.500 10,000 5000
2 6R38 6 R3E 16.662 14850 5.000 &.000 6.500 11.500 6.500
3 8R14 ] R4 13457 11 445 6200 10.000 8.000 10,000 6.500
@ 4 §R3B ] R3E 16.662 14850 6200 10.000 8.000 11.500 6.500
@ 5 10R1/4 10 R4 13487 11445 8.000 12.000 10,000 10,000 6.500
6 10R38 10 R3E 16662 14950 8.000 12.000 10,000 11.500 6.500
7T 13R38 13 R3E 16662 14950 10,000 15.000 13.000 11.500 7.500
& 13R112 13 R12 20855 18631 10000 15.000 13.000 15.000 4500
9 15R112 15 R12 20855 18631 12.000 17.000 15.000 15.000 4500
10 15R3/4 15 R34 26.441 24117 12.000 17.000 15.000 16.000 11.500
12 6M10x1 1] M10=1 10,000 B73 8.000 B.500 10,000 6.000
13 6M12x1.5 1] M12x1.5 12.000 10160 5.000 8.000 B.500 11.500 6.500
14 8M12x1.5 ] MA2215 12.000 10160 6200 10.000 8.000 10,000 6.500
c 15 8 M14x1.5 ] MAd=15 14.000 12160 6200 10.000 8.000 11.500 6.500
@ 16 10 M 12x1.5 10 MA2215 12.000 10160 8.000 12.000 10.000 10,000 6.500
C[ @ 17 10 M 14x1.5 10 M14x1.5 14.000 12160 8.000 12.000 10,000 11.500 6.500
18 13 M16x1.5 13 M16x1.5 16.000 14160 10,000 15.000 13.000 11.500 7.500
19 13 M 20x1.5 13 M20=1.5 20,000 18160 10,000 15.000 13.000 15000 9.500
20 |15 M 20x1.5 15 M20=1.5 20000 18,160 12.000 17.000 15.000 15.000 9500
21 15 M 27x1.5 15 M 27215 27.000 25160 12.000 17.000 15.000 16.000 11.500
22 19 M 27x1.5 19 M27=1.5 27.000 25160 15.000 21.000 18.000 16,000 11.500 _'LI
H
- Ellﬂ Technische Angaben MB = Gewindetiille DIN 8535 19 P ﬂ
Bemassungsansichten:
Seitenansicht
=
¢ 19
Darstellungsmadi
w| oy o 4| ™
ol 9 1 — =% o @
s & a YR
il
L
£ e 5
,\% c\@ 17457
DM 8541-3 - Schl... ;/450 K
56 = T . L2
P L7 L2 —r
L4
Jid|
—

Transaktion CV03N

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 14



Implementation VIKARCHER"
New Application of 3-D Model makes a difference

SAP DB

cenit
CDl interface

Catig/?rg;genase R I
e SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 15




Implementation YV KARCHER
ew Application of 3-D Model makes a difference

4% PARTdataManager ibs\nomAdi o
Datei ERP Ansichten Estias CATIA 7

EEPBBDPE

o HOM KoM 02 03 b4 ) L2 ﬂ
: B L e S AP S L I SR <
T I I T N - T
T T T T I
R rare | i [ eaw [ oow [ s [ toow | sem
R | e | e | em [ oow | em [ isw | e
R | waie | tiae | s | 20m | o [ oon | eem
R T T T T T N T
T T T T T
Riz | e | oe | 1m0 | tsom | rome [ weon | oem
mees - - mees R12 20955 18631 12.000 17.000 15.000 15.000 9.500
I I A T oom |
[)”Sﬂﬁrﬂfi E I TS T T I
T T e T T oo | om
R T I I T e o
=== LA === === MA12x1.5 12,000 10160 5200 10.000 410,000 6500
Wiz [ ion | i | ez | tomm oo | oem
Wiz [ | e | e | wmm Toon |
Winas [ iom | Tt | son | om Tien | eem
Wiods [ oom | reiee | oo | vom Tn T rem
Wiz | Toom | reim | oo | viom won | o
K M20x1.5 20,000 18160 12,000 17.000 15.000 9500
- LI atena arlage
Wais | 2rom | zsim | tsow | 210w om0 | s _';I
V7
=l — =

cenit .
cDlinte Matenalnurnrner;

Diz-dnlage A Mik exizhierendemn Matenal werknupken

kM atenal zuchen

Ubergabe nach Catia /\ R I

SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 16



Implementation VIKARCHER"
New Application of 3-D Model makes a difference

=

Catig/?rg;genase R I
SAP Adapter SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 17

cenit
CDl interface




KARCHER"’

makes a difference

Implementation
New Application of 3-D Model

51,05 B 55341 - PART sobdions by CADENAS - P-AAFP\Caicadnas\dta\ 23 s so\zubehoe\gevindet el ScHauch\in. 35351 5%
Datei ERP_Anschion Extas CATIA 2
= EOE
Dokument  Bearbeiten  Springen  Zusdtze Umfeld Originale  System Hilfe
| @ 108 eae CHE 000 PR e -
sy |
Dokument anlegen: Grunddaten CATIA V5 Part (5PA) waw
A 0] =
Dokument s
Dokument | * Teil oon | Version aa G
<& Léschvarmerkung < Dokumentenstl. @ CAD-Kennzeichen - 6000 !
san
M Zusatzdaten i Beschreibungen i DDx i Ohbjektverknipfungen i Qriginale zzgg
2
Dokumentdaten 2o
Beschreibung Gewindetllle & ”5“”_,@!
Dokumentstatus 84| Arbeitsant. @ nichtfreigegeben o=
cenii Sachhearheiter AWDZ2468 Edgar Ossinger , SMD-4Y
. dnderungsnr. | [hiitio ab 0901 2009
CDl inte
Qriginale
Appl. Applikation |Ab|agekateg0rie | | |Dateiname
% = [FZE[E | Eintigen ||EE Ubemehrm...

[€3 Fullen Sie alle MuBfelder aus ® [ Po1 (1) (101) B[ k3ashgot [ovr | | 2

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 18



Implementation YV KARCHER
New Application of 3-D Model makes a difference

=

Catig/?rg;genase R I
SAP Adapter SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 19

cenit

CDl interface

KPS
Interface
graphic data



Implementation YV KARCHER
New Application of 3-D Model makes a difference

V5 R17 w/ CDI 2.3 - [Product]_6.CATProduct]

mEmMes o2l

KIOCOCLK Gewindetuelle DIN 8535 19 R 3/4 5222897 5PA 000 00 {5222897_5PA_000.1)

’ Liﬁ)—

‘Applications

graphic data
SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 20




Implementation VIKARCHER"
New Application of 3-D Model makes a difference

cenit

Cadenas2SAP
cenit
CDl interface

¥

Catig/?rg;genase R I
e SOLUTIONS

KPS
Interface

graphic data
SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 21



Implementation

New Application of 3-D Model

KARCHER"’

makes a difference

Datei ERF  Ansichten Extras CATIA 7

#% PARTdataManager £.1.06 Build 58841 - PARTsolutions by CADENAS - P:\APP\Catia\cadenas\data\23d libs\norm\din_en_iso\zubehoer\gewindetuelle_schlauch\din 8535 pij

EHERDBEPE (5 ? OMe  §¥8e 6

BETE B REAS|% 5

Linkmanager aufrufen

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 22

EER ¢ oo -
Stilckliste | ﬂﬂ Sz:\APM_I\:AT MAKTXD MSTAE ois DIS_STATUS IDHR. LS L4 HDM KDM ‘ D2 D3 Da L1 Iﬂ
o |MatoKortext | Mat. Status Dokumenteninfosatz OI% Status Idertrummer | Lichte Sehlau... Gewinde [mm] . Durchmesser .| Linge [nm] | Linge
[ [4.. [ERP/POM [0 ‘
T Gewindetille DING5_ | 1) [ 1|6R14 3 R1id 13157 11 445 5.000 000 5500 10,000 B
2 6R3B 6 R 38 16 662 14850 5.000 000 6.500 1 500 6
3 8R14 8 R 13157 11445 6200 10.000 £.000 10000 6
4 8RB 8 R 38 16 662 14850 6200 10.000 £.000 1 500 6
5 10R1/4 10 R 13157 11445 &.000 12.000 10.000 10000 6
6 10R3/8 10 R 38 16 662 14850 &.000 12.000 10.000 1 500 6
7 13R318 13 R 38 16 662 14850 10.000 15.000 13.000 1 500 7
& 13R12 13 RA2 20855 18631 10.000 15.000 13.000 15000 9
9 15R12 15 RA2 20855 18631 12.000 17.000 15.000 15000 9
10 15R3/4 15 R 3 26 441 24117 12.000 17.000 15.000 16000 11
M 19R34 5222687 _aPA_000_00 A 14 R 3 26 441 24117 15000 21.000 19.000 16000 11
i2 61 1wt [ I S N K B [
13 6 MA1A2x15 6 MA2215 12.000 10160 5.000 000 6.500 1 500 6
14 8 MA2x15 8 MA2215 12.000 10160 6200 10.000 £.000 10000 6
15 8 M 1415 8 M14x1.5 14 000 12160 6200 10.000 £.000 1 500 6
16 10 M 12x1.5 10 MA2215 12.000 10160 &.000 12.000 10.000 10000 6
A7 10 M 14x1.5 10 M14x1.5 14 000 12160 &.000 12.000 10.000 1 500 6
18 13 M 16x1.5 13 M 16215 16.000 14160 10.000 15.000 13.000 1 500 7
19 13 M 20x1.5 13 M 20x21.5 20000 168160 10.000 15.000 13.000 15000 9
20 15 M 20x1.5 15 M 20x21.5 20000 168160 12.000 17.000 15.000 15000 9
M 15M 2715 15 M 27215 27 000 25160 12.000 17.000 15.000 16000 11
22 19 M 27x1.5 14 M 2715 27.000 25160 15.000 21.000 19.000 16 000 117
Ay
T FEE ﬂ
Bemassungsansichter:
Seitenansicht
e E = :|
) =
=
% X b y
Darstellungsmadi
| ey - = ™
o @ — 5 ol 9
S 8 S & B
s
o f o
| o | s
1745 K
T L3
L7 L2 =
L
éll




KARCHER"’

makes a difference

Implementation
Change Data

B T B S S P A s

=4

ﬁf’" KA Zusatze Systern  Hilfe
Applications & B A EH IO  CHRE Shas | ER @ E
CAD-Desktop

1:6» Verwendungshachweis ] Aufitischen ”&g SAP-SichtJ

Anderungsnummer: |

5AP-Sicht CAD-Arbeitsvorrat . CAD-Arbeitsverzeichnis  , Dokumentenliste

14
%IQ [ Wertebereich einschranken hale EII\I@Material BI\]%Materialsti.icklisle Ell\[ﬁhnzeigeoptionen E]I[@
1 A < i h 0} 1] ial
Dvo% A G E e izl A Material zur alten Materialnum... g [ [>](E] fsts lStatustext IAndnr I]sanzelgslec Sm(l eng:[ ateria l
N v : A Arbeitsanf. 2024545 ©0OD (3 1
F Materialkurztext | 8
Sprachenschlissel ﬁ
Material 53990010 |
Anzahl heschranken auf 900 [Jkeine Beschrankung
Vi [9]x]

AR T

OLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 23



Implementation YV KARCHER
Chan g e Data makes a difference

cenit

Cadenas2SAP
cenit
CDl interface

SAP DB

PART.

SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 24



Implementation
Change Data

2% PARTdataManager 8 ART solutions by CADENAS

Datei ERP Ansichten Extras CATIA ?

ol

el
|pmes e sees |
R A

[+ G

etiille DIN 8535 6 M 10x1

e I | s;n&n:m MAKTXD MSTAE DIS_ STATUS | IDRR | ‘ HOM ‘ D2 03 ‘ 04 L1
I |Mat-Kurztext Mat. Status | Dokumeteninfosatz DIS Status Identnummer | Lichte Schlau... | Gewinde [mm] ... Linge [m
NE [4.. [ERP/FOM [

T+ Gewindetule DIN G5 | 1| [ @ 1[6R1/4 5 R1%4 13457 11.445 5.000 8000 6.500 100
@ 2 6R38 6 R 38 16.662 14.950 5.000 £.000 6.500 15
) 3 8R1/4 8 R4 13157 11.445 6.200 10.000 8.000 100
@ 4 8R3/8 8 R 35 16.662 14.950 6.200 10.000 8.000 15
@ 5 10R1/4 10 R4 13157 11.445 8.000 12.000 10.000 100
@ 6 10R38 10 R38 16.662 14.950 8.000 12,000 10.000 15
& 7 13R38 13 R 38 16.662 14.950 10.000 15.000 13.000 15
@ 8 13R12 13 RA12 20955 18.631 10.000 15.000 13.000 150
] 9/15R12 15 R172 20955 18,631 12000 17.000 15.000 150,
@ 10 15R3/4 15 R34 26.441 24117 12.000 17.000 15.000 16.0}
11 19R3/4 5.999-001.0 Schlauchnippel R 3/4"-1.4301 F 5222897 _5PA_000_00 A8 19 R34 26.441 24117 15.000 21.000 19.000 16.0

[ 1 e oo | oo | o]
o 13 6M12x1.5 6 M12x1.5 12.000 10.160 5.000 8.000 6.500 15
o 1alsmazas 8 Mi2c15 | 12000 10160 6.200 10000 8000 100!
@ 15 8M14x1.5 8 M14x1.5 14.000 12160 £.200 10.000 8.000 15
[~ ] 16 10 M12x1.5 10 M12x1.5 12.000 10.160 8.000 12.000 10.000 100

3T

@ Einstellungen

Bemassungsansichten:

Seitenansicht

Darstellungsmodi:

DIN 20038 - Verb.

]

e

@ Technische Angaben

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 25

[~ [19.08.2007| #16 awD2468 - Administrator  — i — I ¥

KARCHER"’

makes a difference



Implementation
Reuse

KARCHER"’

makes a difference

cenit
CDl interface

CatiaV5 Cadenas
SAP Adapter

SAP DB

< PARL

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 26



KARCHER"’

makes a difference

Implementation
Reuse

BestehendeS‘ il

l b

Dokumentnummer; 5222897

letztes Teildokument: 000

letzte Version: 00

-

Export aus S&P

cenit

CDIl interface Export aus Cadenas

Anderungshummer;

Anlage neues Teildokument

Anlage neue Version

SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 27



Implementation VIKARCHER"

Reuse makes a difference

SAP DB

cenit
CDl interface

Catig/?rg;genase R I
SAP Adapter SOLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 28

CATIA




KARCHER"’

makes a difference

Implementation
Reuse

o
EJ Stat Fle Edt View Inset Tooks Andbee Window PSCVS Help -8 x|

RExMAO3E [

g F oduct]

d ‘}47‘- 5.999-001.0 Gewindetuelle DIN 8535 19 R 3/4 5222897 5PA 000 00 {5222897_5PA_000.1)

s

Applications

<

<

aeareseess!

<

B! e

<

T

Ty

Y g el

N OsRaLrzs R e B 2uTFenqQsBA8EE '3 '248 '@/0/89% 5 2,
l 2 TIONS

Select an object or a command

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 29



Classification History

KARCHER"’

makes a difference

1988

1989

1991

1993

1999
2006
2009

Start of assembly of classification
(Mantext IBM)

Introduction of program OSAM
(IBM)

Update on ESAM - Amount of material numbers

(USU software)
288 000

Update on ESAM I

(USU software) s
Introduction Cadselect under CADAM indmayica
(Festo)

Introduction SAP classification
Introduction PARTsolutions

Introduction classification in
PARTsolutions

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 30



KARCHER"’

makes a difference

Implementation
Cla

ccifiratinn

Suche Bearbeiten Springen Bewerung Zusaize Umfeld System Hilfe

V] al a @

CAQ LHRE HDOD BE @

Gisnng

Objekte in Klassen suchen

[T suche in Einstiegskiasse | | |f& Suche auch in Unterklassen | | [ Nachselextion | | [1/]

[S"7.304-125.0" in Klasse 03050101 (== =]
instiegsklasse T . = = =
|Kurztext | 2| % | H 1] &l I | BI@BIEQFJ
Kopf- und Maschinenschrauben M Objekt: 000000000073041250
<~ () 00103050 Schrauben mit metrischem Gewinde - | |
< 001030501 Sechskantschrauben - _ | "l L —
© 00103050100 6kt-Schrauben, Gewinde bis KopfIS0 4017 L QIUE N . ! iz
© 001 03050101 BKt-Schrauben mit Schaft nach IS0 4014 483 Gewindenenndurchmes.. | [«] Gewindenenndurchmesser 8,0 mm
@ 001 03050102 Bkt-Schrauben nach EN 14399-4 | B Nennlange [=]| | [ Nenniange 85,00 mm
@ 00103050103 6ki-Schrauben mit Flansch EN 1665 | [c1 Gewindelange Gowindalangs 23,00mm
@ 001 03050109 6kt-Schrauben mit Schaft = Gewinde H1  Festigkeitsklasse Schlisselweite 13.0 mm
~ @ 0010305011 Sech hrauben mit Fei H2  Werkstoff Kopmdhe 5,30 mm
@ 00103050110 6kt-Schrauben mit Feingewinde 1SO 8676 :J SEEHEchEnschiE: Produidiasse A
@ 00103050115 Kugelbundschrauben DIN 74361-2 Form G v eCl@ss 6.2 Klassifikation Festigkeitsklasse 8.8 |
P 001030502 Zylinderkopfschrauben 42 Malonalshlls ‘Werkstoff Stahl
b ) 001030503 Linsenkopfschrauben — E| Oherflachenschutz AZE (verzinkt, hlank)
D @ 001030504 Flachkopfschrauben — eCl@ss 6.2 Klassifikation  23-11-01-01 L
x [ 2 -
[E KL215008000/001/03 og KD Hatraktie £ ]
Viewer TI|||  Navigation EI|/| Werkzeuge EI = = T == =
Il I =0 [alw] [vo] Cleta IEHE
0 3050 1 O 1 [E[ obiert[Bezeichnung |Z Materialstatus| H1 FestigkeitsH ¥ eCl@ss 6.2 Kiassifkation)
7.304-252.0 BK-Schraube M5x12-A4-70 SO 4014 IE A4-70 23-11-01-01 [«]
7.304-239.0 Bkt-Schraube M 6x30-8.8-A2E 150 4014  FE 8.8 23-11-01-01 [+]
7.304-085.0 Bkt-Schraube M6x55-8.8-A2E SO 4014 F 88 23-11-01-01 [
|| 7.304-089.0 BKt-Schraube M Bx60-8.8-A2E S0 4014  F 88 Stahl AZE (verzinkt, blank) 23-11-01-01
|| 7.304-232.0 BKt-Schr. M 6X 65-A4-70 1S0 4014 F A4-70 Edelstahl 23-11-01-01
7.304-087.0 6kt-Schraube M 6x70-8.8-A2E 150 4014 FE 8.8 Stahl AZE (verzinkt, blank) 23-11-01-01
|| 7.304-233.0 BKt-Schr. M 6X 70-A4-70 1S0 4014 F A4-70 Edelstahl 23-11-01-01
7.304-107.0 6kt-Schraube M 8x45-8.8-A2E 150 4014  FE 88 Stahl AZE (verzinkt, blank) 23-11-01-01
7.304-280.0 BK-Schraube M8x45-CU 2 1S0 4014 F cuz CuZn (Messing) 23-11-01-01
|| 7.304-031.0 Bki-Schraube M8x55-8.8-A2E IS0 4014 F 88 Stahl AZE (verzinkt, blank) 23-11-01-01 =
|| 7.304-095.0 Bkt-Schraube Mex60-8.8-A2E 1S0 4014 F 88 Stahl AZE (verzinkt, blank) 23-11-01-01
7.304-097.0 6Kt-Schraube Max70-8.8-A2E IS0 4014 F 88 Stahl AZE (verzinkt, blank) 23-11-01-01
7.304-075.0 6kt-Schraube M 8x75-8.8-A2E 150 4014 FE 8.8 Stahl AZE (verzinkt, blank) 23-11-01-01
|| 7.304-098.0 6ki-Schraube M8x80-8.8-A2E 1S0 4014 7 8.8 Stahl AZE (verzinkt, blank) 23-11-01-01
T | 17.304-125.0 BK-Schraube M8x85 -8.8-A2E S0 4014  F 88 Stahl AZE (verzinkt, blank) 23-11-01-01
= 7.304-099.0 6kt-Schraube M 8x90-8.8-A2E 1S0 4014  F 8.8 Stahl AZE (verzinkt, blank) 23-11-01-01
g 7.304-078.0 6k-Schraube M 8x180-A2-70 1SO 4014 v A2-70 Edelstahl 23-11-01-01
s 7.304-127.0 Bkt-Schraube M10x60-8.8-A2E 1S0 4014 FG 88 Stahl AZE (verzinkt, blank) 23-11-01-01
7.304-128.0 6kt-Schr. M10X 65-8.8-A2E 150 4014 F 88 Stahl AZE (verzinkt, blank) 23-11-01-01
I ] 7.304-126.0 6kt-Schraube M10x80-8.8-A2E IS0 4014  FE 8.8 Stahl AZE (verzinkt, blank) 23-11-01-01
1 8 7.304-124.0 6kt-Schraube M10x100-5.6-A2K 1SO 4014 F 5.6 Stahl AZK (verzinkt, blaulich) 23-11-01-01
: 7.304-117.0 6kt-Schraube M10x110-8.8-A3E 1S0 4014 F 28 Stahl AZE (verzinkt, blank) 23-11-01-01
e RGHEn 7.304-123.0 6K-Schraube M10x120-8.8-A3E 150 4014 F 8.8 Stahl A3E (verzinkl, blank) 23-11-01-01 = m
7.304-130.0 6k-Schr. M10x140-8.8-A3E 1SO 4014 F 8.8 Stahl A3E (verzinkt, blank) 23-11-01-01 =
(DL [ 1]

[ Pe1 ) (101) B[ k3ashgo1 [ ovR |

JsoluTioNs

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 31



Implementation YV KARCHER

Classification makes a difference

- o] |
‘ cscripthost.exe

BL0A7:38:12,381 INFO (?:?) — after importscript:P:/APP/Catia/cadenas/setupPGl/scr
ipts/common/classimport.ubb

[B87:38:12,381 INFO (?:7 after logfile:c:\Temp\logfile.log

[B7:38:12,381 INFO (?:7 after logfile

[B87:38:12,381 INFO (?:7 Before CadenasCall ccall

[A7:38:12,.422 INF0O (?:7 AsyncH

[07:38:12,.477 INFO (?:7 Asyncl

[B87:38:12,477 INFO (?:7 Async2

[37:38:12,477 INFO (?:7 st1lFileNamewithDocNumbher: (¥)

[@7:38:12,477 INFO (?:7 command: "“P:\APP\Catia\cadenas\8186\bin\x86\cscripth
ost.exe" YP:\APP\Catia\cadenas\setupPGl\scripts\common\classimport.uvbbh" —mode ne
w —synconlyfolder B8 —user SYSADM —puwd sysadm —klukn “c:\src\classification‘\var\
classes\@8-801\2010-01-29-87-36-12-985\ZME6_SPM_KLUKN.TXT" —-klast “c:\src\classi
fication\var\classes\B8-0881\28168-81-29-07-36-12-905\ZME6_SPM_KLAST.TRXT" —matnr "
c:\src\classification\var\classes\B8-801\2016-01-29-07-36—-12—-9285\ZME6_SPM_MATNR.
TET" —merkst “c:\src\classification\var\classes\B8-801\2018-01-29-87-36-12-9205\Z
ME6_SPM_MERKST.TXET" —auspr "c:\src\classification\var\classes\@B8-801\20160-81-29-
B7-36-12-905\ZME6_SPM_AUSPR.TETY —prjtable ""c:\src\classification\var\classes\@8
—-001\2016-01-29-07-36—12-985\ZME6_SPM_PRJTABLE.TXT" —logfile “c:\Temp\logfile.lo
g' —imagelist "c:\src\classification‘vari\classes\#B8-081\2016-01-29-87-36—-12-9265\

ZME6_SPM_STL.TXT" —-languages DE.EN.PT.FR,.IT.ES.PL.RU
é\

[B87:38:12.477 INFO (?:7?> - Async3

[B7:38:12.477 INF0O (?:?) — start mode new
OLUTIONS

SMD-W/osr/12.01.2010 / iForum 2010 Kéarcher.ppt 32



Implementation YV KARCHER

Classification makes a difference

cenit

Cadenas2SAP
asynchronous model |

cenit |
Cadenas2SAP ; ——
. “SAP DB
cenit ‘ :
CDl interface

PART.

SOLUTIONS

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 33



. ’A ®
Implementation KARCHER
Classification makes a difference

&% PARTdataManager 8.1.06 Build 58841 - PARTsolutions by CADENAS - P:\APP\Catia\cadenas\data\23d-libs\Kaercher\0310389\03891,038910\03891010.pi jEIﬂ
Datei ERP Ansichten Extras CATIA ?

XTI rrLrcE
demes s eedde |
[EXa=ERlE e Al

@ Teileauswahl

(6] @ @

56 NORBIOCK

B>t covurna croem

& FESTO 5] 5] 1) i‘
X4 FIBRO . é
g e \ 9  ~
(Z) GANTER hraub-Schi hraub-Schi i
Gutekunst Federn
3 Hasco 26.01.2010 26.01.2010 26.01.2010 26.01.2010 26.01.2010 26.01.2010 26.01.2010

m HellermannTyton
m IFM Electronic
o fous
N KABELSCHLEPP
(3 Kaercher [
(5 Elektrotechnik
(3 Maschinenlemerte
(5 Bedenteie
(2 Buchsen, Hilsen, Toleranzringe
(23 Dichtungen
(& Druckspeicher
@ Dusen
2@ Federn und Federungselemente
(& Fittings und Formsticke
& Flansche
(L3 Gewindebolzen, -stifte, Schaftschrauben

(2 Gewindeformende Schrauben
(2 Ketten und Kettenrader

(2 Kot- und Maschinenschrauben
(2 Lager

(2 Muttern

(2 Nieten

() Passfedern und Scheibenfedern
@ Riemen und Riemenscheiben

(2 Rader und Rollen
@ Scharniere

(Z Scheiben und Ringe
@ Schellen und Kabelbander O N S

& Schilder und Etiketten

o--8-5--0---0-F---F-0--B-E-5

(5 Sehlauchverbindungsteile
(2 Sehlauchkupplungen
(5 Sehlauchnippel
-z Schlauchnippel mt Gewinde

i) uchnipp e
[ Schraub-Schiauchnippel gerade GWD-Ansatz d |} » A

A\Schraub-Schlauchnippel gerade [~ [26.01.2010] #1458 | aw02468 - Administratar |  — 1 — T N .
SIVIU-W/OSTI / LZ.ULl.2ULu/ IForum <u10 Karcher.ppt 34




- ‘A ®
Implementation KARCHER
Classification makes a difference

ia\cadenas\data\23d-

2% PARTdataManager 8.1.06 Build 58841 - PART solutions by CADENAS s\Kaercher\03103891038911038910103891010. prj

ﬂEl"l

Datei ERP Ansichten Extras CATIA ?

a1 rcE
|Ekes e &e 8 |
|@mmE | [eBCeRaRg||% 5

-l
SAP_MAT MAKTXD MSTAE DIS_STATUS A B1 B21 B221 B222 | B3 C _A_]
SAP MR Nr (Mt -Kurtext Mat. Status | Dokumenteninfosatz DIS Status i i i i | indesteig... | Linge -§’
5.443-299.0 Schlauchnippel F 13 R 14" 30.
6.388-413.0 Schlauchnippe! F 5072827_5PA_000_01 FR 14 G 172"
6.391-374.0 Schlauchnippel F 5200851_5PA_000_00 FR 14 R 12"
6.646-968.0 Gewindetuelle 172" F 14 R 12"
6.470-171.0 Schlauchnippel 1.4571 F 5128037 _SPA_000_01 14 16 G 12"
I T T N T S S
6.389-221.0 E 5092321_5PA_000_02 1A 16 G 102 32
6.395-201.0 Schlauchnippel G3/8" F 5084757 _C3D_000_00 FR 16 G 308"
5.443-294.0 Schlauchnippel 7 16 M 18.0 1.50 30.
6.996-809.0 Schlauchnippel DN15 F 16 R 12"
6.389-692.0 Schlauchnippel 172" F 5121466_5PA_000_00 FR 16 R 102" 32 J
6.390-845.0 Schlauchnippel 3/4x16, 1.4571 F 16 R 304"
6.388-598.0 Schlauchnippel R3/4" F 5127846_5PA_000_00 FR 16 R 34"
6.388-636.0 Schlauchnippel R3/3" F 16 R 38"
6.388-584.0 Schlauchnippel E: 5097735_5PA_000_00 FR 19 G 102"
6.386-611.0 Schlauchnippel 3/4" 7 314" F 5067771 _C3D_000_00 FR 19 G 304" 28.
6.389-658.0 Schlauchnippel F 18 NPT 12" 30.
6.395-2400 Schlauchnippel Edelstahl 1" x 19 mm F 18 R 3 1.0000
5.443-301.0 Schlauchnippel F 5099588 _5PA_000_00 FR 19 R 102"
6.388-612.0 Schlauchnippel R3/4" F 5070568_5PA_000_02 FR 19 R 304"
6.388-696.0 Schlauchnippel 1" F 5205919_5PA_000_00 PK 20 G 135
2=
Teile Ansichten
|Vetzeichnis =
lr|
Z
v

* [

Schraub-Schiauc... T

&7 |
P ez IONS

LN

L Y —

Schraub-Schlauchnippel gerade | [ee.01.2010| #148 | awl2468 - Administrator | — 17— I_E_

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 35



KARCHER"’

makes a difference

Implementation
Classification

cenit

Cadenas2SAP
asynchronous model
G 3! "
@ PART solutions ﬁl
ce_nit
CDl interface Daten aus SAP exportieren?

| Nein I

PART.

SOLUTIONS

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 36



Implementation VIKARCHER"

Classification makes a difference

cenit

Cadenas2SAP
asynchronous model

cenit

Cadenas2SAP ; =
cenit s
CDl interface

Catiggg;genase R I
SAP Adapter SOLUTIONS

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 37




KARCHER"
FUture PrOSpeCtS makes a difference

cenit
Cadenas2SAP
asynchronous model

cenit
Caden asZSAP

cenit
CDl interface

it
Catigggzdenase
SAP Adapter SOLUTIONS
KPS
Interface

graphic data
SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 38



KARCHER"’

FUture ProspeCtS makes a difference
cenit
é Cadenas2SAP
w asynchronous model
4 \ (
cenit .

Cadenas2SAP
cenit
CDl interface

External Service
Provider

Catig/?rg;genase R I
e SOLUTIONS

KPS
Interface

graphic data
SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 39



KARCHER"’

makes a difference

Thank your for your attention!

Questions?

SMD-W/osr/ 12.01.2010/ iForum 2010 Karcher.ppt 40



